Date : 16 September 2020
Timing : 8:00 AM to 10:30 AM

Shift : I (Morning)
Paper : I (Social Science 107)
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“Children construct their own understanding through interaction with their own
environment” who said this?

(A)  Skinner

(B)  Guilford

(C}  Piaget
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The causes of individual differences are-
(A) Heredity

(B)  Social and economic status

(C)  Emotional and individual

(D)  Environment and heredity
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Educational guidance is required-
(A) In selection of curriculum
(B) In maintain achievement test
{(C)  To check the indiscipline
(DY  All of the above
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In India distance education is conducted through-
(A)  National open school

(B)  open universities
(C)  Both of the above
(D)  None of the above
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Principles of curriculum development is-
(A) Related to life

(B)  Utility
(C)  Variety and elasticity
(D)  All of the above

"TDE T e W R foray wrn?
(®) @fesm

(@) ¥

() SAfrer

(&) <

‘Education” word is derived from the language-
(A} Latin

(B)  Greek

(C)  Spansih

(D)  Japanee
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“Education is natural, harmonious and progressive development of man’s innate”

statement belongs to-
(A)  Pestalogy

(B) Kant
(C)  Vivekanand
(DY  Tagore
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Which of the following is not related to educational programme?
(A)  Eradication of literacy

(B)  Marketing of education
(C)  Continuous education
(D)  Universalisation of education
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The main aim of idealism education is-
(A)  Self realisation

(B)  Physical Development
(Cy  Creating Insight
(D}  To be practical
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‘My Experiment with truth® written by-
(A)  Aurobindo

(B)  Mahatma Gandhi
{(C)  Tagore
(D)  Vivekanand
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Which of the following value is considered to be essential

education.

(A)  Quality of living

(B)  Human dignity

(C)  Emotional Integration
(D)  All of the above
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Whose word is “Black to Nature”
(A)  Idealist

(B)  Naturalist

(C)  Pragmatist

(D)  Realist
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What is meant by 3Society’
(A)  Network of social relationship

(B)  Group of people
(C)  Common people
(D)  Nation
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in democratic pattern of
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The effect on students for more use of Technology in education will be helpful for-
(A)  Alienation in students

(B)  Modernisation of the society
(C)  Cultural invasion
{D)y  enhancement in learning level.
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For teacher study of educational sociology is important because-
(A)  education is most essential aspect of social progress

(B)  education is every citizen’s fundamental right
(C)  education is influenced by social setting
(D)  the individual and the society are bound together.
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Why is school considered a ‘miniature society’?
(A} School inmates come from society

{(B)  School children are of lower age group
(C)  School children developed into adult society member
{D)  schools are established by the society
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Which of the following is most essential for success of Indian democracy?
(A)  Educated people

(B) Secularism
{(C)  National and emotional integration
(D)  Eradication of proverty
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How will you practice democracy in classroom?

(A)  Providing equality of opportunity to pupils

(B)  Giving freedom for pupils in educational choices

(C)  Providing special programmes for the disadvantage groups
(D)  All of the above
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The most significant agent to effect change in society is-
{A) Television

(B) Religion

(C)  Language

(D)  Education
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The fundamental unit of human society is know as-
(A)  Individual

(BY  Family

(C)  Social group

(D)  Tribal group
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Which one of is a constraint on social change in India?

(A)  Ethnicity

(B) Caste

(C) Class

(D)  All of the above
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(F) 1990
(&) 1994
([) 1998
(") 1996

District Primary education programme is started on-
(A) 1990
(By 1994
(Cy 1998
D)y 1996
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Most valuable for a teacher is
(A) Hehasajob

(B)  He has dignity

(C)  Student’s faith

(D)  He has faith in teaching
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Which of the following is not a feature of adolescence period?

(A)  Faster physical development

{B)  Clear and stable self concept

(C)  Increased interest in opposite sex
(D}  High emotional tendencies
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Ed, ego and super ego is related is-
(A) Freud

(B)  Piaget
(C)  Kohlberg
(D)  Erickson
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‘Mental Hygiene’ means-
(A)  Investigation of the laws of mental health

(B)  Taking the measures for mental health preservation
(C)  Prevention of mental disorders
(D)  All of the above
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Which is not the characteristics of a good mental health-
(A) Balanced, integrative and harmonious development -

(B)  Acceptance of reality
(C)  Boasting
(D}  Regular life
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The most important factor in the effective teaching process is-
{A) Discipline of teacher

(B)  Mastery of the content by the teacher
(C)  Teacher student dialogue
(D)  Timely completion of the syllabus
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The major responsibility of a teacher is to-
(A)  prepare lesson plan and teach accordingly

(B)  provide as many activities as possible
(C)  Maintain strict discipline
(D)  Provide learning opportunities as per different learning styles of students
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............... ” plays a significant role in the development of personality
(A) Heredity

(B  Environment
(C)  Heredity and environment
(D)  Examination
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A teacher labels the head of a committee as ‘Chairperson” instead of ‘Chairman’ It
indicates that the teacher

{A) has a good command of language
(BY  using gender-free language

(Cy  has gender bias

(D)  not follow acceptable words

10
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Education for children with special needs should be provided-
(A)  In special schools

{B) By special teachers in special schools
(C)  along with other normal children
(D} By the teaching methods developed for special children in special schools.
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Which of the following is not required for developing creativity in the classroom
(A) Playing games

(B)  Experiment

(C)  Story writing

(D)  Lecture
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The good education programme is according to-
(A)  Need of the children

(B)  Ability of the children
(C)  Interest of the children
(D)  All of the above
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Who will be expected to deal with someone who criticizes you correctly-
(A) Asafriend

(B) Ass fool
(C)  Asacritisizer
(D)  None of these
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By Selling an article for Rs. 720, a man loses 10%. At what price should he sell it to
gain 5%.

(A) 800
(B) 840
(C) 900
(D) 780

TH WEEH BIF B 2400 B9 § 391 T, TFHESR B TR 259 6 a™
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By selling a mobile phone for Rs. 2400/~ a shopkeeper makes a profit of 25% what will
be his profit percentage if he sold it for Rs. 2040/-

(A) 5%

B) 72%

©) 625%

D) 8%

ref qot o A waRed &

1. N 2. ™em 3. f@(sin) 4. SEEX 5. SUER
(®) 1,4,2,3,5
(@) 1,4,3,2,5
(1) 1,4,2,5,3
(e1) 4,1,2,3,5
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Write in a meaningful sequence-

1 Patient 2. Diagnosis 3. Bill

(A) 1,4,2,3,5
(B) 1,4,3,2,5
©y 1,4,2,53
D) 4.1,2,3,5

siel ot 71 % R

1. BTN 2. 3. T 4. gl 5. AR

(¥) 1,4,3,2,5
(@) 2,3,4,5,1
(71} 3,4,2,5,1
(o) 4,3,2,5,1

Write in meaningful sequence —

1. Milky way 2. Sun 3. Moon

(A) 1,4,3,2,5
(B 2,3,4,51
€y 3,4,2,51
(D) 4,3,2,5,1

I HEIT Dl G BN

AT AT

4, Earth

4. Doctor

5. Stars

5. Treatment

2
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Find the missing number

(A) -30
B) 13
© 18
(D) 30

< AT DI TG B

? 15
127 31
N
(®) 206
(|) 300

(1) 255
(&) 195

Find out the missing number

7
? 15
127 31
B3
(A) 206
(B) 300
(C) 255
(D) 195
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A girl leaves form her home. She first walks 30 meters in North West direction and
then 30 meters in South West direction. Next She walks 30 meters in South West

direction. Finally she turned towards her home. In which direction is she moving?
(A) North East

(B)  North West
(C)  South East
(D)  North West
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Pointing to a gentle man, Kamal Said, “His only brother is the father of my daughter’s

father’s” How is the gentleman related to Kamal?
(A)  Grand father

(B)  Father

(C)  Brother-in-law

(D}  Uncle

et sjaren % fagpa W @ @ §?
40, 120,60, 180, 90, ?, 135

(®) 110

(@) 270

(71) 105

(a1) 210

Which one is missing number in the series
40, 120, 60, 180, 90, ?, 135

(A) 110
(B) 270
() 105
(D) 210
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A5. IFTCN A T
ADB, DGK, HMS, MTB, SBL, ?

(&) ZKU
(@) zcA
(W) ZKW
(a1) KzZu
The next term in the series is-
(A) ZKU
(B)y ZCA
(C) ZKW
(D) KzZu

46. AR “VARANAST &1 FE ‘WCUESGZQ' B
a1 ‘KOLKATA’ 1 BT BRI
(%) LOQO2EH
(") HLZEOOQ
() ZELHOQO
(&) LQOOFZH

If ‘VARANASI’ Code is ‘WCUESGZQ’ then the code of ‘KOLKATA’ Will be

(A) LOQO2EH
(B) HLZEOOQ
(C)  ZELHOQO
(D) LQOOFZH

47. IRpHIAA X, RPT R+, TR+ swrapi .. GE18T3P9S8R
6="7
(F) 34
(@) 37
(1) 46
(a) 52

It P means X, R means+, T means +, and § means “.....  then I8T3P9 S8R 6=7

(A) 34
(B) 37
(C) 46
(D) 52
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(B) 5X4+20=40
(@) 5X4+20=85
() 5X4+20=104
(|F)  5X4+20=95

Given inter change: signs + and X, and number 4 and 5, select right answer-

(A)  5X4+20=40
(B)  5X4+20=85
(C)  5X4+20=104
(D)  5X4+20=95

49. oM () wE o forg v &7

U<, 91, faq

%)OOO
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Which diagram is fit for the group.

Week, Year, Day

%)ooo
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50. & B TIT e
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(@) o
(1) -ma
(a) e

Select the correct
(A) Delta

(B)  Fish
(C) Boat
(D)  Banks
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An advanced water management system of Harappan times has
been unearthed at -

(A) Dholavira (B} Lothal
(C) Kalibangan (D) Alamgirpur

ﬁgm(m)ﬁﬁqﬁmﬁﬂéﬁm@fﬁﬁqﬁ@ﬁﬁﬁﬁm‘m'
o1 AR foha @ en ? —

() e (@) Hegan
(1) w7 (31) SeTept

In the Mesopotamian record, which one of the following terms was
used for the Indus valley (Harappans)?

(A) Dilmun (B) Meluha
(C) Magan (D) Failaka

TS G B Y T HEaqul Bel B A ?
(&) g 3R S (@) foret 3wt

(1) a1 3R FeR (&) TRy 3R T

Two most important Harappan crops were —

(A) Wheat and Barley (B) Sesamum and mustard
(C) Rice and Peas (D) Cotton and Sugarcane
Page1of71
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The site that played the role of Harappan trading station was
(A) Harappan (B) Kalibangan

(C) Lothal (D) Surkotada

BSWIHTG TR YR B TR el oy ?
(@) wrow (@) qifea <o
(1) uraiiNaEl ®1 Sreae (u1) arsie

The Harappan cities were ruled by —
(A) Monarch (B) Priest King
(C) Merchants oligarchy (D) Not Known

NG & oI A I BN aTel e “Neada Wi fbw sufeE 9 fre o
§?
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The words ‘Satyameva Jayate' in the state Emblem of India has
been adopted from which one of the following?

(A} Mundaka Upanishad (B) Kath Upanishad
(C) Isha Upanishad (D) Brihdaaranyaka Upanishad

Page 2 of 71
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The concept “The world is God and God is my soul”, was
propounded in the —

(A) Rigveda (B) Brahmanas
(C) Brahmasutra (D) Upanishads

g ¥ fore srarer &1 999 31fere Seow fn = g, ag o ?
(&) == (&) sTqERY]
(1) Tgg =N (1) <ot o =

The most common crime mentioned in the Rigveda was
(A) Murder (B) Kidnapping
(C) Cattle-Lifting (D) Stealing gold

Ifere w1 § fp= < o1 “uftr’ e @ siffEe e e on ?
()R B FRERA A a (@) gueas
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In the Vedic period the people, called ‘Panis’ were —
(A) Those who controlled Trade

(B) Cattle-breeders

(C) Cowherds

(D) Plough men

Page3 of 71
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Which Vedic test first refers to money lending?
(A) Satapatha Brahmana (B) Gopatha Brahmana
(C) Atharvaveda (D) Yajurveda

ﬁw%ﬁmﬁﬁw%ﬁmwﬁmﬁaﬁwﬁmﬁﬁﬁwﬁ
urefergs <amiaRa foar e

Which of the following Kings of Magadh transferred the Capital
from ‘Girivraja’ to Patliputa permanently?

(A) Ajatshatru (B) Shisunaga
(C) Kalashoka (D) Munda

"Bl Rer’ frafafaa § ¥ fvg orE or srafeg of ?
(w) =rm (W) aroRe
(31) BTy (=) amba

At which one of the following places Ghositarama monastery was
located?

(A) Champa (B) Varanasi
(C) Kaushambi (D) Saket

Page 4 of 71
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The practice of image worship started among the followers of
Brahmanism with the emergence of -

(A) Ajavaka sect (B) Bhagavatism

(C) Vaishnavism (D) Saivism

14. dvg vl o1 9EFEH SIEIER HiF o ?
(%) =aaN (@) gg=m
(1) =g (=) =TSl

Who was the greatest Buddhist commentator of the Buddhist
canonical literature?

(A} Ashvaghosha (B) Budhaghosha
(C) Vasumitra (D) Nagarjuna

15. WEER D 9 OF g9 & WgE % 01 WA o —
(%) Wil T (@) weaTg
(31) e () T

The great pontiff or saint of Jainism after Mahavir was/were

(A) Sumbhuti Vijaya (B) Bhadrabahu
(C) Sthulabhadra (D) Hemachandra

Page 50f 71
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(@) 7R () ufa
(1) ©: (=) 94

In how many categories did Megasthenes divide the indian

society?
(A) Four (B) Five
(C) Six (D) Seven

17, 3m0e & Riererai § wya v -
(@) weqga (@) v
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Language used in the Inscriptions of Ashoka is —
(A) Sanskrit (B) Prakrit
(C) Palj (D) Hindi

18.  orena & frafafas fra Rieiera # ‘werm o1 fiets seaa &,
(%) wRwRE Rremera (@) Frmel wrR Rrerer
(1) BuR Rreera (u1) vre= @1 e

Which of the following Asokan inscription makes a specific
reference to taxation?

(A) Rummindei inscription (B) Nigalisagar Inscription
(C) Kandahar Inscription (D) Barabar cave Inscription
Page 6 of 71
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How long did the entire Mauryan dynasty last according to the
Puranas?

(A) 218 years (B) 137 years
(C) 85 years (D) 152 years

Hrfwrer # Jea: faaml o g @ forg T angeli @1 v fesan s en ?
(@) %ol siiw ATy (@) 9iaY IR 9
(1) am &R I (=) AR va FRA

The metals mainly used for minfing coins during the Mauryan
period, were —

(A) Gold and Silver (B) Silver and Copper
(C) Copper and Bronze (D) Lead and Bronze

Arfaral § odrg Wa el e ag A e e a ?
(%) webl g% %€ (@) wwl
(1) gy wd g (u) 7=

During the Mauryan times royal houses were mostly build of —
(A) Baked bricks (B) Wood
(C) Mud and lime (D) Stones

S é, | Page 7 of 71
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The only son of Ashoka found mentioned in his inscriptions is —
(A) Tivala (B) Mahendra
(C) Kunala (D) Jaluka

Pe WOR B 59 ISR B U IS IR G Iog FRIET B UYR
g on ?
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The officer of the central government, who was in-charge of the
royal income or control of venue, was

(A) Sannidhata (B) Karmika
(C) Samaharta (D) Mahamatra

3TN BT & Hold : AT

(o) |rfors aiR Afas srguron

(@) smefoas SR enfife s@amon

(1) WIS Tehen B ATH

(=) wriSe-—-afie Tawne & ufy <ifs gicsiv

Ashok’s ‘dhamma’ was basically a / an-
(A) Social and Ethical concept

(B) Spiritual and religious concept

(C) Attempt towards social solidarity

(D) Secular approach to social-religious problems

Page 8of 71

25



25.

26.

27.

yritE UcrerRie o A AW WRd 61 59 TIW | o 9 ?
(%) T (@) ai~fen
(1) ¥ () #i—feam

By what name India was known to the Chinese in the early
historical period?

(A) KUN-LUN (B) TA-HIA
(C) SHEN-TU (D) SI-HIA

FretfeiReae wen diiordl ¥ 9 foh welt 9Ruw 4 g 1 AAUSH WG w9 |
R fe s &1 wE e € -

() A (@) TR
(1) wga (1) SrRTael

The earliest cases of Buddha's personification are recorded in
which one of the following art traditions?

(A) Mathura - (B) Gandhara
(C) Bharhut (D) Amaravati

drg 1 ffareusl’ o fbg TR &1 golia qui= fea man e ?
() ToagR () 3eTge
(1) |THa (1) urefergx

The graphic picture of which one of the following cities is provided
in the * Milindapanho’?

(A) Purushapura (B) Rajagriha
(C) Sakala (D) Patliputra
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28.

29.

30.

oot I S eet | wierss’ @) e ot ?
() U =nat (@) UM i
(11)3?[?;'311'11'@[ (Mad

Which Chinese general defected ‘Kanishka’?
(A) Pen Chao (B) Pan Yang
(C) Chi Huang Ti (D) Ho Ti

W T H RS G ST Waifs wewayol avg @ o ?
(&) T Sl Tty (W) FvS vd Bia B a6
(1) wfe=r wa =Rl (a1) O

Which of the following was the main Article of Import?
(A) Gold and Silver (B) Pottery and glassware
(C) Wine and slave girls (D) Horses

frrferea & < fra e wer—veh 1 mus W < W W Frafg Ry wrar
o1 ?

(®) e (@) sgR
(1) =T (&) f&xor

The Indian bird or animal most widely Exported during the Sangam
Age to the Roman world was —

(A) Monkeys (B) Peacocks
(C) Tigers (D) Deers
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31.

32.

33.

fareell & AN & Faa—Sd—gvaM ARk 3 IR A R ufiig die wv
fradt wfad e ?

() 3milp (@) ==

(1) & (31) ST

In the courtyard of the Quwwat-Ul-Islam mosque of Delhi stands
the famous iron pillar in the memory of —

(A) Ashoka (B) Chandra
(C) Harsha (D) Anangpal

frafefRag 4 A feue ddy eI g ?
() AT () eI
(1) qERIRIE G (&) wrAfshan

Which one of the following is associated with VVarahmihira?

(A) Yogayatra (B) Golapada
(C) Dashagitikasutra (D) Kalakriya
o W A o W g wreiera @ e § 7
() g e (%) Ao
(1) BEAR Ha (51) TeTHAR aRaq

Which one of the following is not a work of Kalidasa?
(A) Ritusanhara (B) Meghaduta

(C) Kumarsambhava (D) Dashakumaracharitam
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34. W URG D b TR B wataw W e S T wET o ?

35.

36.

() Terf3ren (@) urefags
(1) DreTEY (°) aRoRy

Which of the following cities of North India was regarded as the
best producer of Silk?

(A) Taxila (B) Patliputra
(C) Kausambi (D) Varanasi

frrieRaa 4 3 fva 3w @ @naiRal @1 Yem AR ) veier o —
(W) = (W) sy
() i (®) Rigelt

Which of the following seem to have monopolized trade in Silk?
(A) Chinese (B) Arabs
(C) Persians (D) Sinhalese

B SETE H AT B A AT WRI AHIRIST T BEAN A ?
() s (=) #m
(1) &R (=) févvg

The King's share of the produce was normally known as —
(A) Bhaga (B) Bhoga
(C) Kara (D) Hiranya
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37.

38.

39.

AR = MRA 99T B 91d 9w | fnfora fvan g, o <991 e
foraer o ?

(&) =T (@) fram
(1) Wg (a) <reife g e

Megasthenes divides India Society into seven classes, of which
the second class was that of —

(A) Merchants (B) Farmer's
(C) Warrior's (D) Philosophers and Teacher’s

(i srareet @1) werfaiy’ fog g Y @ SR o ?
() wgefer (@) PH=ENRRIR
QIRERE! (1) = i

Medhatithi (of the ninth century) was the famous commentator on-
(A) Manusmriti (B) Kamandakanitisara

(C) Trihyasutras (D) Naradasmriti

Fipward A fFrafaRea € 9 fFa v R He o A =8 @ o —
(@) wreh (@) HrE
(Mg (o) DR

At which one of the following places Shankaracharya did not
establish a Matha?

(A) Kashi (B) Kanchi
(C) Puri (D) Kedarnath
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40.

41.

42,

?fﬂlﬁnﬁmmﬁzﬁ%qﬁﬁmwz%@iﬁ—mﬂmﬂﬁﬁqwﬁs} ?
(@) agey (@) Tge™
(1) T (1) W=

The tenures which were meant for educational purposes, were —
(A) Brahmadeya (B) Devadana
(C) Salabhoga (D) Sarvamanya

e Bl # 4 @1 e B forg for A @ wsn @
T <mar em ?

() Toeaa—g—reen (@) vTeen — =i
(&) wareq (=) wroit

The term used for measurement if the land in the Sultanate Period
was —

(A) Kismat-l-ghalla (B) Ghalla-Bakshi
(C) Masahat (D) Ghazi

ot geeT ) AR SIaTeRRE Wil B W e I @ v anpre
g R P ?

(®) g1 (@) sraT=eH
(31) Few1e fam grerp (=) R gorers

The Sultan who first formulated the ‘Famine code’ to provide relief
to famine — affected people was —

(A) Balban (B) Alauddin Khalji
(C) Muhammad bin Tughlug (D) Firuz Tughiug
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43. R T B YAl | g $eAR 6w aifife awer o o o ?
(&) d1g o (@)emed (M) Ivmwner  (¥) 99 €Uen

Befare the coming of the Muslim rulers, Kashmir was known to be

a centre of —
(A) Buddhism (B) Jainism
(C) Vaishanavism (D} Shaivism

44, TN WIHSY B Ui B R el S o ?
() TNIH AT IRD (@)@

(1) |a1 — T — ¥dY (®1) HEFied

The provinces of the Bahmani Kingdom were known as —
(A) Taraf or Ataraf (B) Subah
(C) Subah-i-Laskar (D) Mahamandala

45, ISR 9TETRI BT BT W 91 gaifee gie 3R dteiig o ?
(®) g™ (@) o
(1) e (=) T

Which of the following musical instruments had acquired a
prominent place in the Vijayanagar empire?

(A) Mridangam (B) Vina
(C) Nadaswaram (D) Cymbals

48. a%gﬁaqa@maﬁﬂm@ﬁﬁmmwﬁwnﬁﬁgmm?

(&) el (@) R g
(71) s/ wa Sy (a) gawd=
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47,

48.

49.

A Muslim writer who was an accomplished Sanskrit Scholar was —
(A) Alberuni (B) Amir Khusrau
(C)} Amir Hasan Dehlwi (D) Badruddin

Frffaa 3 9 frem yg—sida aei= @ wRiares frm —
(&) Feervmemd (@) =
(1) Toreares (=) g

Which of the following propounded the philosophy of ‘Shuddha-
Advaita’ (Pure non-duality)?

(A) Vallabhacharya (B) Chaitanya
(C) Nimbarka (D) Ramanuja

1 @ Seute # Y—R1oTea S w9 A wRI0T IS BT Rban Rvw B o ?
(@) 16 gfcrera (@) 25 gferera
(31) 35 wfcrerd (1) 40 e

What was the Maratha state’s share in the produce of the land?
(A) 16 percent (B) 25 percent
(C) 35 percent (D) 40 percent

S VT & PHISY 6 & S F 1857 & faa1e & <NM e faeifal &1
e 3R WY TEIGR e’ qarwn o ?

() B iz (@) @it o
(71} == Selars (&1) 17T e
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Whom did Sir Hugh Rose, the commander of the British Army
during the revolt of 1857 refer as the “the best bravest of the
military leader of the rebels”?

(A) Kun war Singh (B) Tantiya Tope
(C) Rani Lakshmi Bai (D) Nana Sahab

50. ol R TR 92 FHIER Us oy —
(%) sfeam amifam (@) FauiEd 3R
(1) eRe= (=) @ gfem

The first paper published by Gandhi was —
(A) Indian opinion (B) Navjeevan

(C) Harijan (D) Young India
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Political Science

W Wi B siefa Preffea 3§ 4 9 w1 1o e @ ?
(%) & gamal § weem e

(@) st o faefya o=

(31) ArdsTi=p wuf & wyeen @

(&) <ifderr & wiy Fromam e v 9 sevil @1 a= i B

Under the constitution of India, which one of the following is not a
fundamental duty?

(A) To vote in public elections
(B) To develop the scientific temper
(C) To safeguard public property

(D) To abide by the constitution and respect its ideals

HRA & W ¥ B o w1 e feer gRorg ¥ ?
() SERT@ (@) w=a & DY & P T
(1) qei-srfrpre (=) wradt Srgegeh

The Ideal of welifare state in the Indian constitution is enshrined in
its —

(A) Preamble

(B) Directive Principles of state policy

(C) Fundamental rights

(D) Seventh schedule
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Td @ wfau & Freafaiad § 9 o @ 1@ s ¥ ga—agd faeh
B fovas yaum &7

(%) g9 g (&) dfadi g
(1) amedl el (=) =l g

Which one of the following schedules of the constitution of India
contains provisions regarding anti-defection Act?

(A) Second schedule (B) Fifth schedule
(C) Eighth schedule (D) Tenth schedule

e § el wieentaal (S.7.) @ forg fom woa H waifte s
g, @~

(@) faem (@) o

(71) SR YW (%1) ®eT YR

The state which has the largest number of seais reserved for the
Scheduled Tribes (S.T.) in the Lok Sabha is —

(A) Bihar (B) Gujarat

(C) Uttar Pradesh (D) Madhya Pradesh
g wderr fr | 9 s oRliFRer € ?

(%) &l "™ (@) gaiaRu 3N a9 FA1e
(31) & HAT (u) fasm siR wrenfah

Survey of India is under the ministry of
(A) Defence (B) Environment and Forest

(C) Home Affairs (D) Science and Technology
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YUH AT P T8 D o ?
(&) gqgu i (@) & Agersx
(1) BaqHE (°) g

Who was the speaker of the first Lok Sabha?
(A) Hukum Singh (B) G. V. Mavalankar
(C) K. M. Munshi (D) U. N. Dhebar

Tl ward W B ¥, ) o ey @ sfex fafam o ?
(@) 1918 (@) 39"
(1) 6 WTE (a) 1 ¥

If a Panchayat is dissolved, Elections are to be held within —
(A) 1 Month (B) 3 Months
(C) 6 Months (D) 1 Year

fFrrafeias 4 4 fee @ ¥ b woda deds’ & B ST i ?
(%) wd =R (@) T, W, e
(71) v, T, Hed (&) g M=

Who among the following said ‘Bureaucracy is the price of
Parliamentary democracy”?

(A} Ramsay Muir (B) H. J. Laski
(C) F. M. Marx (D) Herbert Morrison
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10.

11.

qRA e o uvare | gerfaRua eres wlist I ?
() 259 GeheE A (@) 424 dele= 4
(1) 444 wEmeE H (&) 524 \¥ieE H

The word “Secularism” was inserted in the Preamble of the indian
Constitution by —

(A) 25" Amendment (B) 42" Amendment
(C) 44™ Amendment (D) 52" Amendment

IR < @ f5a e @ simia weufy ol JftreR @ T a8 fasdl
e o= s sl A | ?

(%) IgED= — 63 (@) argede — 108
(1) 3rT=0E — 109 (=) argeE — 1M

Under which Article of Indian constitution president of India enjoys
power to withhold his assent on any Bill?

(A) Article-63 (B) Article-108

(C) Article-109 (D) Article-111

fratem sTge sern o APl § ~

(&) g FEtea ongad g™ (@) yarHA g

(31) e fratee smged & W uR Uiy gR (6) 9k @ Je e gR

The Election Commissioner can be removed by the —

(A) Chief Election Commissioner

(B) Prime Minister

(C) President on the recommendation of the chief election commissioner
(D) Chief Justice of India
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12. ﬁmﬁ‘sﬁm&mm%—

13.

14.

(F) IR 9 T W 10 g1 9 (@) gag 10 99 | 11 991 9
(1) o€ 11 99 9 SR 12 99 °F (°) TR 13 IO ¥ AU 1 9 I

Time of the Zero-Hour in Parliament is —
(A) 9 amto 10 am (B) 10 amto 11 am
(C) 11 am to 12 noon (D) 12 noon to 1:00 pm

GEKUCICES e r DR T w(PlL)mmetﬁ
T TN ©F 9 ?

(®) v RReageen (@) . 9. 3w
(1) T. 7. a1Fig (u) ). T, W

Who was the Chief Justice of India when Public Interest Litigation
(PIL) was introduced to the India Judicial system?

(A) M. Hidayatullah (B) A. M. Ahmadi
(C) A. S. Anand (D) P. N. Bhagwati

Frfeiaa 3 % - v wradi @ 4% ?
(®) Bfy (@) fren
(M) gfera (=) em

Which of the following subjects lives in the concurrent List?
(A} Agriculture (B) Education
(C) Police (D) Defence
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15. Hiferr BRI & sicria SE-w1 =i T2 @ YU 9§ Hefim 2 ?
(@) s gesE — 17 (|) 3T g=e — 19
(1) sresE — 23 (=) argeDT — 24

Which provision of the fundamental right's is directly related to the
Exploitation of Children?

(A) Article-17 (B) Article-19
(C) Article-23 (D) Article-24

16. daHr R TouaH § Mot (HRA) @ E -
() B TS H&41 B 1[5 (@) |1 =T =1 61 16

(1) et IR BT 110 (a) B wE &A1 6l 18

The quorum of Rajya Sabha is —
(A} 1/5 of the total membership
(B) 1/6 of the total membership
(C) 1/8 of the fotal membership
(D) 1/10 of the total membership

17. =1 4 9 o9 "eivE sftfrem e wfau= s e g ?
(@) a2di (@) 444

(31) 46at (%) 501t

Which of the following consfitutional Amendment Acts was said to
be a "Mini constitution™?

(A) 42" (B) 44"
(C) 46™ (D) 50"
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18.

19.

42&#&%%%19%@%?@%1&@%%@@
Tl'm_

() W &5 & geTRe o Seig (@) s aReg @ frfor
(31) wHiferw we (9) 399 9 BiE 78

The 42" Amendment Act (1976) has incorporated into the
constitution of India a New chapter on, -

(A) Administration of Union Territories
(B) Formation of Inter-state council
(C) Fundamental Duties

(D) None of these

e @ e srgeT @ snuR W wreufy o 4 Rri g & sieon
B E ?

(@) =g — 352 (9) ag=oT — 355

(1) srg=E — 356 (&) 3rgesa — 360

A Financial Emergency can be declared by applying —
(A) Article-352 (B) Article-355

(C) Article-356 (D) Article-360

Whe of the following Chief Justices of India acted as the President
of India also?

(A) Justice M. Hidayatullah (B) Justice P. N. Bhagwati
(C) Justice Mehar Chand Mahajah (D) Justice B. K. Mukherjee
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21.

22.

23.

Y B RATPR SR TWd DA E 7
(%) wrguf (@) ¥9e
(1) <diiea =TTy (1) 55 uRwg

Who is the custodian of Indian Constitution?
(A) President (B) Parliament
(C) Supreme Court (D) Council of Ministers

FAEaa ¥ oaaR el 31 e 1971 A SEFUHT TR e Bl 98
frerivor e od 9% gemaq W@ ?

(%) 203173, (@) 2026 %.
(1) 2021%. (|1)2041%.

The state wise allocation of seats in Lok Sabha is based on the
1971 census. Up to which year does this remain intact?

(A) 2031 (B) 2026
(C) 2021 (D) 2041

frfaiaa 4§ @ fad Pyl wva &1 el Fa & ?
() ¥IRE 1 HEr-Ara (@) Frae vd wereE T
(1) TS BT FIUTA (1) Susia AW

Who among the following is appointed by the President?
(A) Attorney General of India

(B) Comptroller and Auditor General

(C) Governor of a state

(D) All of these

42
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24.

25,

26.

& fafd & 7o W wate ~arra | gerret o @1 aifteR feae) ¥ ?
() werrTT 1 (&) 3rgufy

(1) fooeft A Sz ~are B (a) SwIe it &

Who has the right to seek advisory openion of the supreme court
of India, on any question of law?

(A) Prime Minister (B) President

(C) Any Judge of the high court (D) All the above

HHCR 2T JOTTet % aeafdes sriviferast wi fras u 2 g ?

(®) Hag (@) ygrHA

(1) recgafer (=) Sirpemréy

Who Exercises the actual executive power under the parliamentary
form of Government?

(A) Parliament (B) Prime Minister

(C) President (D) Bureaucracy
mﬁaﬁﬁmﬁﬁ%@am&ﬁﬁﬁﬁﬂ—mmﬁﬁqﬁwaﬁ
rgfaa @en =iy @ Rafe e ?

() 3rgesE — 70 (@) s — 72

(1) 31T — 74 (&) 3" — 75

Which one of the following provisions of the Indian Constitution
deals with the appointment and dismissal of the council of
Minister's?

(A) Article-70 (B) Article-72
(C) Article-74 (D) Article-75
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27. =¥ 9 foer giu R Ffafiad s=a =maraat ¥ 9§ e e o

SR g ?
CIEICRCt (@) wermen
(1) weT (u1) <k

Which one of the following high court’s has the Terrotorial
Jurisdiction over Andman and Nicobar Island?

(A) Andhra Pradesh (B) Calcutta
(C) Madras (D) Orissa

28. frefl wou ¥ wouwe A PRy dftam @ foa srgee g da T
(@) 153 (@) 154

(&) 155 (1) 156

The appointment of a Governor in a state is made as per the
provision in the constitution under Article —

(AY 153 (B) 154
(C) 155 (D) 156

29. WING WYBR B BT A9 9% urpTel B dan ¥ ?

(&) werIrEaTe (TElH o Rd ) (@) IFa¥ <ITed B e g

(1) fafer s @ srena (a) 399 | Big T&l

Who advises the Government of India on legal Matter's?
(A) Attorney General

(B) Chief Justice of Supreme Court

(C) Chairman, Law Commission

(D) None of these
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30. R WE 9 wwyar wiyEfe ¥ -
(@) va & wufy & il 9 (@) =nfas e 9
(1) fauely a1 & et 9 (°) 9Ra & warTES 9 vt @

Sovereignty of India Parliament is restricted by —
(A) Power’s of the President of India

(B) Judicial review

(C) Leader of the Opposition

(D) Power’s of the Prime Minister of India

31, Tpas - faan “ i =18 &) weavr 78 ?
(&) warear Al (@) A o S5
(1) erfefe (|) gurEz 9

Who coined the slogan “No control, No co-operation”?
(A) Mahatma Gandhi (B) J. L. Nehru
(C) Aurobindo (D) Subhash Chandra Bose

32, ﬁwﬁaﬁaaﬁﬁﬁmﬁwﬁﬁ‘mﬁwaﬂwmwzﬁ
TR féran s =nfdg’ ?

(®) Teiay Jaor9 (@) sddre
(1) 3rTEH ARl (") e 99

Who among the following said that behavior in administration
should be studied through Psycho-analysis?

(A) Alex Bavelas (B) Orway Tead
(C) Abraham Maslow (D) Chester Banard
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33.

34.

35.

TSI Bl Gy g & ?

(@) wregufa (@) IuIreeyfy
(1) ge=EAT (&) St 3read

Who is the chairman of the Rajya Sabha?
(A) The President (B) The Vice-President
(C) The Prime Minister (D) The Speaker

Frafaiea 4 4 oF W 9 IReR faeeh arRel &) wra =8 &2
(@) ol & wwet w¥rTar (@) sfreaafda w@a= o AfRBR
(1) wrot vd 3RS =l & PR (9) v @ fawg IR

Which of the following Fundamental Right's is not available to
foreign citizen?

(A) Equality before Law

(B) Right of Freedom of Expression
(C) Right of freedom of life and body
(D) Right against Exploitation

P13 g u= fadus ¥ a1 78 s vl 9 B & ?
(&) eyt (@) SAPaI L
(1) fara wfer (a) R

Who decides whether a bill is a money bill or not?
(A) The President (B) The Speaker
(C) The Finance Secretary (D) The Finance Minister

A
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36. o< WA ¥ wiRdg Wlgm @ s Wt 1 feR ¥ e -
(&) Hifere afdpr (@) Yenfae
(31) e s (°) Iwam 4 | B TE

At Present in the constitution of India Right to Property is a —
(A) Fundamental right (B) Legal right
(C) Moral right (D) None of the above

37. WA wieR B Pied Bl §
() W B aguRefa & e 6 FRITE &1 Garem B
(@) wew & v e
(1) I %9 | BRI B 59 WHR B g D e T @
(&) Do WS B TIT FAVIYHAT B 26 B 75 98 9 B

The Function of the Pro-Temp speaker is to

(A) Conduct the proceeding if the house in the absence of speaker
(B) Swear in members

(C) Officiate as speaker when the speaker is unlikely to be elected

(D) Only check if the Election certificates of the members are in order.

38. ATV AT & YR A Tl § ) e & 5 Ofe fear 7
(@) srcurafer == | (@) weqaTad
(31) 2PM T=aE (=) T

The provision for the calling Attention Notices has restricted the
scope of which of the following?

(A) Short duration discussion  (B) Question hour

(C) Adjournment motion (D) Zero hour
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39.

40.

41.

frrefafea 9 4 59 dae 9 4afta &9 o1 rfdrer g & ?
() WA & HERIRIETEY B (@) 9IRS A Y B
(1) Ra & Y= IR B (a) TR JReT FATTPR Dl

Which one of the following has the right fo address the
Parliament?

(A) Attorney General of India

(B) Chief Election Commissioner of India
(C) Chief Justice of [ndia

(D) National Security Advisor

| @ I bR At @ e ® reufi B Wit e g8 -
(%) 15 94, 2005 B (@) 5 5, 2005 B
(1) 15 5[A, 2005 Bl (&) 12 319CER, 2005 Bl

The Right to Information Act of Parliament received the assent of
the President of India on —

(A) 15" May 2005 (B) 5™ June 2005
(C) 15" June 2005 (D) 12™ Ociober 2005

TR AfRg™ @ 59 v § O QuEl | v=ad 99 & gRaeyHr
HTNE?

(&) w1V (@)am X (1) ¥ X (=1} e Xl

Which part of our constitution envisages a Three tier system of
Panchayat’s?

(A)Partlv  (B)PartX (C)PartXl (D) PartXIl
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42.

43.

44,

Frforfiaa & 9 B o Gamnfye en 78 ¥?
() faw smam (@) Y smar
(1) itep a1 ST (&) v S

Which one of the following is not a constitutional body?
(A} Finance Commission (B) Niti Aayog

(C) Public Service Commission (D) Election Commission

R & Uil TR AR e @ g 5w 9 B9 e 37 qd &) s
AGLAS & ?

(@) 7 = (@) 14 =
(1) 21 fe= (u) 30 R

At least how many days of prior notice is required for the
Impeachment of the President of India?

(A) 7 Days (B} 14 Days
(C) 21 Days (D) 30 Days

frfeRas % 1 fbw a1g W i WRYM S e SR o sruR
R o T o ?
(@) g1 I a9 (@) TiHd v T 9

(1) e TR P A (=) Sued § 9 B 8

Which one of the following cases propounded the concept of
“Basic structure” of the Indian constitution?

(A) Indra Sahney case (B) Shankari Prasad case
(C) Rudal Shah'’s case (D) None of the above
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45.

46.

47.

Wy for s @ Weu d FraRaa e A9 PR W wd 2 ?
(F) TE TP IFURG e ¥ (W) I TP HAfre aeen &
(71) 4% TP v dwen ¥ (a) Sudad § @ B3 7

The State finance commission is a
(A) Non Statutory body (B) Constitutional body
(C) Legal hody (D) None of the above

RGO e @1 DF 91 ST IR o1 fagen -y 3 wefta ¥ ?
(&) 3T — 380 (@) argeoT — 312
(1) arg=sE ~ 60 (&) argede — 51

Which Article of the Indian constitution is related to Indian Foreign
Policy?

(A) Article-380 (B) Article-312
(C) Article-60 (D) Article-51

HIRa ¥, AR © Hifers ARERI & Feieq $H o) aal € 7
() <irma (@) I
(1) 5ag (&) war=a ey

In India who is competent to amend Fundamental Rights of the
Citizens?

(A) Lok Sabha (B) Rajya Sabha
(C) Parliament (D) Supreme Court
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48.

49.

50.

ARG & Haied /IR 7 Hfiam & sy 9= @ Rigia o)
wee fovan & -

(@) MerdT1I 918 1967 § (@) \oore Rig a1 1965 #
(1) TiB A vNIE 91 1951 9 (a) BeEaFEg WRA 918 1973 ¥

The Supreme Court of India enunciated the doctrine of ‘Basic
Structure of the constitution”

(A) The Golaknath case in 1967

(B) The Sajjan Singh case in 1965

(C) The Shankari Prasad case in 1951
(D) The Keshavanand Bharti case in 1973

IEE—249 & WS (1) B afcrta MR wvara Frefelaa o 1 e ol

Ha & fere uga w8 wm ?
() v A8 (@) &1 wrg (1) 5:wE (&) U v

A resolution passed under clause (1) of Article 249 shall remain in
force for a period not exceeding.

(A) One Month  (B) Three Month (C) Six Month (D) One Year

WY W A B 9 W FEE 9 aad) § ?

(&) Srgea—249 (@) srgedg—250 (1) afewE—252 (W) SgdT—253

Under which Article of the Indian constitution the Parliament can
make laws on state list subject for giving effect to International
agreement’'s?

(A) Article-249  (B) Article-250  (C) Article-252 (D) Article-253
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Economics

TR A A PN IRa A AT & FTAN A & ?
(@) uRega (=) o
(1) Srea iR i (=)

Which of the following is not a part of service sector in India?
(A) Transport (B) Construction

(C) Hotels and restaurants (D) Insurance

WIRE 1 TR 3 BT 9H |19 fban e ?
() faferam &8 g (@) v, 5. AU B
(71) <181 W8 AR g (a) DD IRAN I g™

The first measure of India’s National Income was made by —
(A) William Digby (B) M. G. Ranade
(C) Dadabhai Naoroji (D) V.K.R.V Rao

D — 7 37E G FC IS g B oEH B & ?
() SIS T, Wl (@) srfd gfen
(1) YERM o, T (a) amcd 9+

Who is the author of the book — “I do what | do”?
(A) Jagdish N Bhagwati (B) Arvind Panagariya
(C) Raghuram G Rajan (D) Amartyasen

Lry
W
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R H Ao sreferaven smenfRa ¥ ?
() Mdiare) sgaeen w= (@) WA Sawen
(1) Yolrard) =eren w (=1) i3 areferawen w

In India Planned Economy is based on —

(A) Gandhian system (B) Socialist system

(C) Capitalist system (D) Mixed Economy system

‘free—vse’ # =R wEfdea ¥ ?

(%) st & =auR | (@) o= B =AUR 9
(1) WP Ufferl B AR Y (9) vl & IR |
Market in ‘gilt-edged’ is related to trade in

(A) Metals (B) Debentures

(C) Government (D) Arms

“Frefen @1 geas” o sraaron Wakte § ?
() et W (@) T &
(1) vt (ar) Sy & & i il

The concept of “Vicious circle of poverty” is related to —
(A) Karl Marx (B) Nurkse'
(C) Adam Smith (D) None of the above
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1944 ¥ A Ao D1 wfoufes forar on -
() . 3R, [HR 7 (@) TR 9T A1 HIE A

(1) T WepTET SIRIAE 3 (&) SR FTRRIO 3RETE 3

The Gandhian pEa.n was Expounded in 1944 by
(A) N. R. Sarkar (B) Kasturi Bhai Lal Bhai
(C) Jai Prakash Narayan (D) Shriman Narayan Agrawal

YRITOT Hea s SN 6 Yo fhas o= fosa g ?
() R R 9 (@) rare
(1) S rverr (=) wfor frepr s

The Rural Infrastructure Development Fund (RIDF) has been
created under —

(A) Reserve Bank of India (B} NABARD
(C) Ministry of Agriculture (D) Ministry of Rural Development

o1 9 9 frwe foro Serl goU AEA Rnfia M E ¥ ?
() J&A, @Y TF HeIH SUHAI B forg

(=) 981 Yoiarel Seimii & forg

(1) Aifgen MFAU=R

(1) B | WEnfE & v S oue! @ g

Helplin ‘Udyami’ is ment for

(A) Micro, Small and Medium enterprises
(B) Large Capital Industries

(C) Female entrepreneurs

(D) Farmers using technology in forming
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10.

11.

ARG ¥ gErSify Al o ?

(%) it Feu <ereias g

() 2188 IR BrERY @ ferg Suvien e g
() ®f st & forg Suviem qoo g

(=) R 3y IR gRY

In India Inflation is measured by the —

(A) Wholesale price index number

(B) Consumers price index for urban non-manual workers
(C) Consumers price index for agricultural workers

(D) National Income deflation

umqﬂ?ﬁuwﬁmﬁwﬁmﬁqﬁﬁawméaﬁ?mm%
Tereen A fomres o, e —

(&) e S (@) aver
(1) wem yew (1) 37 v

The First Indian state to have its Human Development report
prepared and released by Amartya Sen in Delhi -

(A) West Bengal (B) Kerala
(C) Madhya Pradesh (D) Andhra Pradesh
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12.

13.

1 5 B Bl B g Tl e PR wedh degf e ¥ ? |
() i ff srgeer uieg

(@) 9|

(1) | AT T BE N

(&) ¥yl Y STy G

Which of the following makes the recommendation regarding
fixing of minimum support price for various crops?

(A) Indian council of Agricultural research
(B) NABARD
(C) Commission for Agricultural costs and prices

(D) Indian Agriculture Research Institute

A 4 =g SR Yen i @ S 9 31 gu N 9iE R @W R @ T
HROTE ?

(&) Sdl SR (@) freeh wermn &1 e wR
(a1} ~Fran i/ Seure ST CIEEIR CUERICEC R LI

The main reason for low growth rate in India. Inspite of high rate
of savings and capital formation is —

(A) High Birth Rate (B) Low level of foreign aid
(C) Low capital output ratio (D) High capital output ratio

56
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14.

15.

NI 3T -

(@) AT o4 W Frae IR IS §,
(@) S &P UR Fad Ui 9arE g,
(1) 9IR ou W faa 23l garE &,
(&) weareH arrE R fFraa 3ei saE §,

National Income is —

(A) Net National product at market price
(B) Net National product at factor cost
(C) Net Domestic product at market price

(D) Net Domestic product at factor cost

Srewifral Aie (PNs) fFrrafafaa 4 A fra e A wafa & ?
(@) ARl g (@) fageh gvorm v
(1) <igea T, e sriww (u) e WerEE

Participatory Notes (PNs) are associated with which one of the

following —

(A) Consolidated fund of India

(B) Foreign Institutional Investors

(C) United Nations Development programme

(D) Kyoto protocol

57
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16.

17.

R A TG Y& | A P Al B 59 MR 97 it far & fb
(@) 4§ ~em fafe @ arel TM @ TpeR ¥
(@) 9 a¥ ¥ fafea ~gam o=l & forg & aa ¥

(1) 9 By #ffe aRaN A iR srgfia nfv/sFonfy arnfiie wig
¥ wefda ¥

(=) TR I HeTqXl 3 & Hoigd 9T Bl gl

Persons below the poverty line in India are classified as such
based whether —

(A)  They are entitled to a minimum prescribed food basket

(BY  They get work for a prescribed minimum number of days in
ayear

(C)  They belongs to agricultural labourer household and the
scheduled caste / tribe, Social group.

(D)  Their daily wages fall below the prescribed minimum
wages

HIRd F1 e wderor Yedw a9 ARerd 9k IR Yehiida fovan s & 7
(%) 4 Red 95 @ g™ (@) wRa &1 ife A & g1
(1) MR IRPR & I Ao/ g1 (") 9Rd ORPR & SAN A6y 51

Economic survey in India is published officially every year by —
(A) Reserve Bank of India

(B) Niti Aayog of India
(C) Ministry of finance, Govt of India
(D) Ministry of Industries, Govt of India
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18.

19.

20.

ﬁwr%ﬁaaﬁﬁaﬁaﬁaa@wmﬁnﬁuﬁmﬁ@%aﬁﬁmzﬁm
A B THE TG ?

(o) WIRel 1 ~regufa (@) eA@aT o1 e
(31) RS T e (=) <y fawa

Who of the following shall cause every recomandation made by
the finance commission to be laid before each house of
Parliament?

(A) The President of India (B) The Speaker of Lok Sabha

(C) The Prime Minister of India (D) The Union Finance Minister

IR Red §% o §6 TR D9 B B Belawny
() AT Wi T 95 S ¥,

(W) IR & TR e TR B,

(1) TRIR P ATl W B Y9G T8 gSdl §

(=) anfTRoas e e w1 Yol Wufed & o §

The lowering of Bank rate by the Reserve Bank of India leads to
(A} More liquidity in the market

(B) Less liguidity in the market

(C) No changes in the liquidity in the market

(D) Mobilization of more deposits by commercial banks

(&) T=di 3R e wfgenai @1 ufaveror

(@) @ 391 ¥ e Rt o1 i

(1) 9 siaRe | yedi—<rger 7= @ fog wra & 9w
(u) =15 forem nfay
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21.

22.

“Mission Indradhanush” Launched by the Government of India
pertains to

(A) Immunization of children and pregnant women
(B) Construction of smart cities across the India
(C) India’s own search for the Earth-like planets in outer space

(D) New Education Policy

et Pull @ TedR are S@a -~
(@) IR 9IRS B § (W) dER BN §
(M) IER AT E (a) FRee A €

Debenture holder’s of a company are its
(A) Shareholders (B) Creditors
(C) Debtors (D) Directors

JHRIF N IR~

(&) T § ufedsd B SuR < ¥

(|) 3mRo o Ao IRAF @1 TR IH ¥

(1) 31o Hio 3Tgo ATIRTF i & R SN T
(¥) MR RPN 3= 90 B IR A ¥

The Bank rate is the rate at which —

(A) A bank lends to the public

(B) The RBI lends to the public

(C) The RBI gives credit to the commercial banks

(D) The Government of India lends to other
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23.

24,

25.

afE yierfies =S & sarer AT o witaierd B foran W, & 97 e g
T?

() woie e @ (@) TTEE T Bl
(1) ae ot T syaxen 9 (er) smm e 9

If Interest payment is added to primary deficit, it is Equivalent to —

(A) Budget deficit (B) Fiscal deficit

(C) Deficit financing (D) Revenue deficit
“UERIRIG ¥ el R -

(@) 9T | (@) 9 |

(1) ¥R IR § (=) Sugfera W 2 el < =18

The word ‘Actuaries’ is related fo —
(A) Banking (B) Insurance
(C) Share Market (D) None of the above

" ggd SIS HET 9gd § B9 avgail o et Bl ¥ 17 e v Prafafag
| ¥ fp dgifers fard e snenRa & ?

(&) Sral w1 uRkeEm Rigia

(@) 5= 1 uRer Rrgia

(1) &1 &Y AT B AR Agikis SaRm
(&) aRwifa ¥ gaTg
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26.

27.

28.

The statements, “Too much money chasing too few goods.” Is
based on which of the following theoretical concept?

(A) Quantity theory of prices
(B) Quantity theory of money
(C) Inventory theoretic approach to the

(D) Real balance effect

frferfiaa 4 @ 9 AR-S1 9% g™ A9 9T & P
(@) srfenen (&) R
(1) S gig =) (=) amg & R

Which of the following is measured by the Lorenz curve?
(A) Eliteracy (B) Unemployment
(C) Population growth rate (D) Inequality of Income

‘faem—-2020" B U1 ewmaw datE ¥ -

(@) BN e | (@) sfEnfire faor 4

(1) anidfe T @ (°) T < 9

“Vision — 2020 for India” documents is related to —

(A) Agricultural Development  (B) Industrial development

(C) Economic development (D) Poverty development

(%) 3rTsie (AF—oRBIRT) IRERE o B9 T ¥ g 2 & forg
(@) & Tl B AEAA 37 ¥ AN T D g wheror & g

(1) forira woaeT™ & feen-dys avm & o

(=) 4fe67 Ward ugemr B forg dieEa v @ s g
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29.

30.

The Bimal Jalan panel was set up by Reserve Bank of India to —
(A) Suggest to minimize the non-performing asset

(B) Scrutinize application for new bank licences

(C) If farm guidelines for financial inclusion

(D) Study use of mobiles in delivering banking services

e 9 4 B R ol T o wR W Pl @ sl @ farg
Do AP (e TordY) &7

(@) fa=t s (&) urTor W
(1) & Ao (1) Ny s

Which among the following in India is the nodal agency for
estimation of poverty of the national and state level?

(A) Finance commission (B) Rural ministry
(C) Home ministry (D) NITIAYOG

yRd | fageh faf e =g o1 we—<ame feas gr b oman & 7
(@) v Rod 9% g™ (W) WIRER WR< §6 g1
(1) fo=1 e, IRA WEOREN (9 9RO Imara—ata 96 gra

Who maintains the Foreign Exchange Reserve in India?
(A) Reserve Bank of India

(B) State Bank of India

(C) Ministry of Finance Government of India

(D) Export-Import Bank of India
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31.

32.

33.

3 srferaRen o1 afwm & ?

(%) BIE 3R 9 SN BT e 3MReied

(@) avar w6 o 85 @1 9E s

(1) 3FIR vd 99 @1 wE s

(&) srferaven A By iR Sl SWi @) agm

Mixed Economy means —

(A) Co-existence of small and large industries
(B) Co-existence of public and private sectors
(C) Co-existence of rich and poor

(D) Promoting both agriculture and Industry in the Economy

e wiRa 4 geell IR @R B I o1 e o o ?
(@) Perehl = (@) Biesie
(3T) 3R, o, = A (&) vl weR 3

Who had suggested an Imposition of “Expenditure Tax” in India
for the first time?

(A) Kalecki (B) Kaldor
(C) R. J. Chelliah (D) Gautam Mathur

AT FAIBRT B0 B] 137 T § 9 7y Sevg ¥ fovar wry 21 2
(&) Hargas g9 aTel a5 TeH B T e ¥

() T e &g

(1) o R g

(|) Sal B g : Aea iR angfrdieeor ¥y
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34.

35.

National Renewal Fund was constituted for the purpose of —
(A) Providing pension for retiring employees

(B) Social security

(C) Rural reconstruction

(D) Restructuring and modernization of Industries

AR JTEDR JRIRIT &Y eRI-88 # SUeTel ARIGY BE B THNG B9 B
Rrwif¥er &1 & —

(F) v wfify (@) saex it (T WmatiR (9) vRow afi

The committee which was recommended abolition of tab rebates
under section-88 of the Income Tax Act of India is —

(A) Chelliah committee (B) Kelkar committee

(C) Shome committee (D) Rangrajan committee

Frrefeaa % < B 1 To SR e @1 Sur A8 ¥ ?
() AT STTaedh HriHH (@) srefegaRen &1 IETAHT
(1) R (a) 9fy g

Which one of the following is not a measure of reducing
inequalities?

(A) Minimum-needs programme
(B) Liberalization of Economy
(C) Taxation

(D) Land Reforms

Page 48 of 71



36.

37.

38.

YA Ager § TR g § ?
() $34 IR
(1) =01

Balance of Payment includes
(A) Visible trade
(C) Debts

(@) sIg¥a IR
(=) Sudiaa AW

(B} Invisible Trade
(D} All of the above

Fefaiga § | B[ W va o Sewl B v a8y 7

(@) far
(1) T

(@) Rgu=
(a1) TSI vd arerrae]

Which of the following is not the problem of small scale Industries

(SSls)?
(A) Finances
(C) Raw Materials

ol ITeTR | e ¥ -
(@) R FoIR
(1) g1 AR |

Capital market means —
(A) Share Market
(C) Money Market

(B) Marketing
(D) Strikes and lockouts

(@) o= TR ¥
(&) S w9

(B) Commodity Market
(D) All of the above
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39.

40.

41.

42,

NS srfaaven fugm snaRa & ?
(@) uierfan (@) =<
(31) <r5a &1 ferg=m (=) 399 9 a1 718

The Gandhiyan Economy is based on the Principle of —
(A) Competition (B) Trusteeship
(C) State control (D) None of these

TR A @ forg w9 2013 9 Wi SeieR Ay @ segg e o ?
(%) grer dgerar (@) . FRIeH

() 31, 8. sTaren (1) ar80 Do 3reTH

Who was the chairman of the high powered committee for
measurement of poverty in 2013

(A) Suresh Tendulkar (B) C. Rangarajan
(C) D. T. Lakadawala (D) Y. K Alagh

P A T DA VN GIPR R AT ST ¥ ?
(@) fahraR (@)SaErw (1) G s (=) gt o

Which tax is imposed solely by the Government of India?
(A) Sales Tax (B) Excise Tax (C) Custom Duty (D) Octroi Duty

Wi o & 1 iR A e g A SR R ?
(%) ISTEIY el — e YRE (W) 99IE HIel — ST
(1) 9o =S + HA SUR AR (&) e o &g ~ fel TG Wi
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43.

44.

Primary deficit is measured by —

(A) Fiscal deficit — Iinterest payments
(B) Budget deficit — Interest Payments
(C) Budget deficit + Total borrowings

(D) Total revenue Expenditure — Total revenue receipts

a1 & SR s 83 & o[ Frifaa fosam e ?

() v wri e G

(@) 3mrmh §% Ao (die 9@ w&hid)

(1) "o e wreg wron <o )

(a) I S fde™ fm

The service area approach was implemented under purview of —
(A) Intergrated Rural Development Programme

(B) Lead Bank Scheme

(C) Mahatma Gandhi National Rural Employment Gurantee Scheme

(D) National Skill Development Corporation

WRa Fefafea | 9 99 1 are 99R o g fafafia B E ?
() Fei1 wgor AR (@) fofe wgarsd =amw
(1) SRS vwE wr (W) e wpEet @ 9en i wEst R

In India, which of the following is regulated by the forward markets
commission?

(A) Currency Futures Trading
(B) Commodities Futures Trading
(C) Equity Futures Trading

(D) Both commodities futures and financial futures trading
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45,

46.

47.

Wﬁﬁﬁmmaﬁm%ammﬁwmwéﬁ%%?

(%) B (%) &g (1531) Td BIC SeM

(1) e i (%) Sufat wshh

Priority sector lending by banks in India constitutes the lending to —
(A) Agriculture (B) Micro and small enterprises
(C) Weaker sections (D) All of the above

S T AT sreferaven €1 g A few wor i Frfor weeaysf geme
qig 4 aRonfia 78 & umar ¥ ?

() PHAR TITET O (@) e
(31) S=a TR e (&1) S=a Yol Saure U™

Despite being a high saving Economy, capital formation may not
result in significant increase in output due to —

(A) Weak administration machinery (B) llliteracy
(C) High population density (D) High capital output ratio

mﬁﬁmwmmaﬁmmwmﬁwma
fore geRerh & ?

(&) o v (W) anfefer i Ry
(1) TasiRr Jrand R (u) =g v

Which one of the following is responsible for the preparation and
presentation of Union Budget to the Parliament?

(A) Department of Revenue
(B) Department of Economic Affairs
(C) Department of Financial Services

(D) Department of Expenditure
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48.

49,

50.

éﬂﬁaﬁmmmaﬁ?mqﬁmﬁrzﬁnww%ﬁiawm
el ¥, 39 PEd & -

(@) SBR (wifafers 9e 3rgurd )
(w) SLR (wifafire av¥e 3rqu)
(71) CBR (@€ ¥& Rerd)

(7) CLR (@8 axa Rerd)

The Banks are required to maintain a certain ration between their
cash in hand and fotal assets.

(A) SBR (statutory bank ratio)
(B) SLR (statuary liquid ratio)
(C) CBR (central bank reserve)
(D) CLR (central liguid reserve)

forfofaa 3 @ o W e/ oHm T o ¥ ?
(%) ADR (=) GDR
() SDR (%1) Both ADR and SDR

Which of the following is / are treated as artificial currency?
(A) ADR (B) GDR
(C) SDR (D) Both ADR and SDR

ATdSi® & Yot & oreuer o1 79T B BAT E 7

(@) ¥ 9 =R (@) i Rerd o
(71) By faa ey (=) §e feagTat
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The chairman of public sector banks are selected by the —
(A) Banks Board Bureau (B) Reserve Bank of India
(C) Union Ministry of Finance (D) Bank Tribunal
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Geography

“EING I’ T gvT & TR <=1 o bl ¥,
() ol JFUE0 & I 9

(@) qoi e & 3 9

(1) Baet yuiTEn gAlE S TR a3 W)
(=) Bt Yot vafias & S &3 1

Diamond Ring is a Phenomenon observed —

(A) At the start of a phenomenon observed

(B) At the end of a total solar eclipse

(C) Only along the peripheral regions of the totality trail
(D) Oniy in the central regions of the totality trail

a1 aferar 9o ¥ et o b oirea 3 | I & TaeR Rl § P

(@) 20 T A [Qws (@) 30 & [GDs

(1) 40 65 [OFs (u1) 50 T A1 [dDs

At which average speed the Earth revolves around the SUN?
(A) 20 K.M/Sec (B) 30 K.M/Sec

(C) 40 K.M/Sec (D) 50 K.M/Sec

el U o o suRerfa & fon f=afoifaa 4 3 o < va araRen waw
T R ?

(o) argFseir wee

(%) wmirE sraRend

(71) 9% Bl AR it oa o sulef

(=) 3fsiH @ SuRerf
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Which one of the following conditions is most relevant for the
presence of life on Mars?

(A) Atmospheric composition
(B) Thermal conditions
(C) Oceurrence of ice cap and frozen water

(D) Occurrence of Ozone

¥ Tt srien won v Rt Qevie sraRer & -
(&) redifes TemrR (@) angifes weEamR
(1) fée TErRIPR () werid FEFIRR

Zero degree latitude and zero degree longitude lies in the —
(A) Atlantic Ocean (B) Arctic Ocean
(C) Indian Ocean (D) Pacific Ocean

meﬁ%@awﬁﬁﬁﬁmwﬁmﬁwm?ﬁqmzﬁ
TS B T B T 98 e ?

(%) &= (g.a.) (@) fera (geima)
(1) 31p1 (a7 (=) s1fers sraran (sRraifn)

Which one of the following cities does not have the same clock
time as that of the other three cities at any given instant?

(A) London (U.K) (B) Lisbon (Portugal)
(C) Accra (Ghana) (D) Addis Ababa (Ethiopia)
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frefofiag 9 @ F 91 U6 Tasawnae Rt ffd Yan & waifdes fac
T?

(@) weTaep STASHRA (@) IfFT SereawaeE

(1) TARS SeSHEISH (1) fomTeex SasawH

Which one of the following straits is nearest {o the International
date line?

(A) Malacca Strait (B) Bering strait
(C) Strait of Florida (D) Strait of Gibraltar

Frefoiaa R # | BF @ TE YA Y@ © waite e § ?
(@) Wil (@) Tt
(1) wriren (&) RimqR

Which one of the following cities is nearest {o the Equator?

(A) Colombo (B) Jakarta
(C) Manila (D) Singapore
e X TE oI € —

(@) = 9 (@) wRa 9|
(MmFTEA (u) =R A

The Tropic of Cancer does not pass through —
(A) Egypt (B) India
(C) Iran (D) Myanmar

7Y
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10.

11.

SRFRIR 1 BT 161 § fovasy of ey o7 ?
() uie o1 o gd (") 3oNE H3S 94 g4
(31) =meirg B o g () 3t F o

What was the period of the Dinosours?
(A) Five crore years ago
(B) Eighteen crore years ago
(C) Forty crore years ago

(D) Eighty crores years ago

HEF A &1 way fad ¥ ?
(F) <IRAEH (|) anfemid=
(1) B (a) sand=

Great Ice Age is related to —
(A) Pleistocene (B) Qligocene
(C) Holocene (D) Eocene

7 Tl 3 foert gerra far 3 5 5ol o sy S s
qAPi A g ¥ ?

(&) oF S (W) Teo P
(31) Two BRI (=) 3fo Rue

Which of the following scholar has suggested that the earth has
originated from the gases and the dust particles —

(A) James Jeans (B) H. Alfven
(C) F. Hoyal (D) O. Schmidt
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12.

13.

14.

fFrefaRae werdidl 9 9 9F— 91 TiearTas &1 9T T8 o ?
(®) St 3FfepT (=) aferely s
(1) ThYeT (a) ameferan

Which one of the following continents was not a part of Gondwana
Land?

(A) North America (B) South America
(C) Africa (D) Australia

VIR 1 Wi |iehd Saramyedl & —

(%) BIead (@) wgeiaTE

(1) feberry, (=) forgfaas

The most active Volcano is —

(A) Cotopaxi (B) Fujiyama

(C) Kilauea (D) Vesuvius

Frferfiaa @ 9 o W da sjEen e a= & ?
() (@) smeTs

() fewrera (%) T8

Which of the following is the largest mountain range?
(A) The Rocky (B) The Alps
(C) The Himalayas (D) The Andes
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15, fraferaa wdal § 9 & 37 78 @ R saRe ¥ ?

() Uit (@) viFrgw
(1) BRARRE (°) 15 BRee

Which of the following mountain is located along the Rhine river?
(A) Pyrenees (B) Apennines
(C) Carpathian (D) Black Forest

16. ‘el W' AN JraRerq ¥ ?
() HmfE 4 (@)= +
(31) BeTERT | (&) weiiferan

‘Takla Makan’ desert located in the —
(A) Afghanistan (B) China
(C) Kazakhstan (D) Mangolia

17, FefiRea 3 % 9 w1 3o SRz wrre | G 718 T & 7
(&) IIoRITAT (@) =
(1) 3% (&) TR

Which of the following countries does not form a border with the
Caspian Sea?

(A) Azerbaijan (B) fran
(C) Iraq (D) Kazakhstan
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18.

19.

20.

fraferaa 3w A A o w1 fergenftrn &1 Frmadl =8 & ?
(@) wrels (@) g
(1) SATEE (=1 errataE

Which one of the following countries does not border with
Lithuania?

(A) Poland (B) Ukraine
(C) Belarus (D) Latvia

Ra 3R A B afaRea Frafalaa § 9 o9 § g | Ry =ER @
A & ?

() Tiraee, A N Rmaem (@) Fafsan, et $iR Half¥mn
(1) ensis, e sk walRtn  (9) umEdls, AeiN 3R qidRT

Other than India and China which one of the following groups of
countries border with Myanmar?

(A) Bangladesh, Thailand and Vietnam
(B) Cambodia, Laos and Malaysia

(C) Thailand, Vietnam and Malaysia
(D) Thailand, Laos and Bangladesh

Freaforfad § B9 @1 T3 <71 Hfes wu 4 siReT A Reg R M
IeHfae gie 9 R BT IR E ?

(%) TzHS (@) B AsHeIS
() Arrels (1) g

Which one of the following country is Geographically located in
America but politically is part of Europe?

(A) lceland (B) Canary Island
(C) Greenland (D) Cuba
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22,

23.

Frefeifaa 2ei 4 I B9— tF wa-sg ¥ ?
() Frenaa (@) %
(31) = (u) &7

Which one of the foliowing countries is land-locked
(A) Bolivia (B) Peru
(C) Surinam (D) Uruguay

freferfiaa 4 @ B A o oo donfran sir et @ dra siortr B
I g —

(@) ars (@) Jerd
(1) fereifan ('er) SITRreR

Which one of the following lakes forms as an International
boundary between Tanzania and Uganda?

(A) Chad (B) Malawi
(C) Victoria (D) Zambezi
Rarais =< S e & -

() BT IR HYw wor sFRa & weg

(@) AR vd wgaarsg smle @ as

(1) AfIRTP TG TEIHT D Hew

(") TareHIen T Sigw @ weg

Rio Grande river makes boundary between —
(A) Canada and USA (B} Mexico and USA

(C) Mexico and Guatemala (D) Guatemala and Honduras
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24, THR B UINEHE g e W R ?

25.

26.

(%) 6= (@) wisa
(1) e (ar) fearrarn

What is the administrative Capital of Myahmar?
(A) Bassein (B) Mandalay
(C) Myitkyina (D) Pyinmana

<Rv-uf=di i & fFafafaa 5§ $9 91 w391 HEREER 9@ Bl
TEE ?

(@) i (@) s

OGEEE (") soRIEa

Which one of the following countries of the South-West Asia does
not open out of Mediterranean Sea?

(A) Syria (B) Jordan
(C) Lebanon (D) Israel

frerferiaa v sieit A § B i TERITR Y g1 A §?
(%) STIeTerd I (=) wenfad g
(1) =féron e e ar (1) e o

Which of the following Ocean current’s doest not belong to the
Indian Ocean?

(A) Agulhas current (B) Mozambique Current
(C) South Indian Ocean (D) Benguela Current
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27. T& oo v Reg ¥ ?

28.

29.

() BreT WrR iR $Ra77 IrR (@) DI ¥R 3R YHea R
(1) w1 B @ SR e W (&) sremran & @R i g W

Turkey is located between —

(A) The Black Sea and the Caspian Sea

(B) The Black Sea and the Mediterranean Sea
(C) Gulf of Suez and the Mediterranean Sea
(D) Gulf of Agaba and the Dead Sea

mﬁﬁmﬁﬁwﬁmwaﬁ‘m'aﬁ?'wwﬁ
TR ¥ foufra sxir § ?

() Marad (@) wers
(1) =1 (=) #rd

Which of the following rivers divides Indian peninsula into Malwa
and Deccan Plateau?

(A) Godavari (B) Mahanadi
(C) Narmada (D) Mahi

W@aﬁﬁmmwmmﬁwwmw ?
(@) smgerdt (@) Rare
(1) g (51) Aewe

In which one of the following places were amendments to the
Kyoto protocol adopted?

(A) Abu Dhabi (B) Riyadh
(C) Doha (D) Muscat
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30.

31.

32.

33.

AR e frefeiaa 9 9 foas et g ?
() 3ol &rRol (@) TRAANH]
(1) a1l A (m) I =rew i S

The Ramsar convention is related to which one of the following?
(A) Ozone depletion (B) Desertification

(C) Wetlands (D) Green House gas emission

I B R waw &) i 84 29 wHen: Aure, Yer wd 99 ¥ e €7
COESICER EH (|) AEre™
(31) uf¥=™ s (&) fafirp

Which state of India has borders which Three countries namely
Nepal, Bhutan and China?

(A) Arunachal Pradesh (B) Meghalaya
(C) West Bengal (D) Sikkim

femrera B w1 wwiaN gorg AR | g€ ¥ el | wreieas Ao ¥ -
() Feranfers 2ol (@) fr ferera
(1) gz fewrer 2ol (&) diensx Sofy

The Himalayas are formed of parallel fold ranges of which the
oldest range is —

(A) The siwalik range (B) The lesser Himalayas
(C)The great Himalayan range (D) The DHauladhar range

for < e Al @ wew AR w Rom § ?

(%) FETS 9 SIPR (@) ge oo 9 OR dee
(1) gl TewTeT 9 SEEN (61) PRIGI d AT
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34.

35.

36.

Between which two mountain ranges in the valley of Kashmir
situated?

(A) Ladakh and Zanskar (B) Great Himalayas and Pirpanjal

(C) Great Himalayas and Zanskar (D) Karakoram and Ladakh

¥R TEIRyE FE sraRerd ¥ ?

() 3rier wev (@) wics

(1) @ (%) afrerrg

Where are shevaroy Hills located ?

(A) Andhra Pradesh (B) Karnataka

(C) Kerala (D) Tamil Nadu

w1 3 9 & -

(@) TTearal femrera o1 Wi (|) "urer famrera o1 W
(1) srer fewrer @1 (=) derre fgarera &1 o

Nanda Devi peak forms a part of

(A) Garhwal Himalayas (B) Nepal Himalayas
(C) Assam Himalayas (D) Punjab Himalayas
Sl =) fobay v1ow W Rerg & ?

() f&vmaer vewn (@) fafope

(1) o7 3R B (9) StRIEs

In which state is the Nelang Valley located?

(A) Himachal Pradesh (B) Sikkim

(C) Jammu & Kashmir (D) Uttrakhand
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37.

38.

39.

‘E AR ¥ —
() Hem 741 & 91f 9 W) (@) e ST & 98 d¢ W
(1) Rig T & ¢ e (=) Rig =01 @ 91¢ I W

‘Leh’ is located on the
(A) Right bank of river Jhelum  (B) Left bank of river Jhelam
(C) Right bank of river Sindhu (D) Left bank of river Sindhu

Rrew s o Rera &, a8 8 -
(&) TTEed dC (@) HIeER 9¢
(1) Biwv 9€ (5 S AIBR T

At which of the following places in the chilika Lake located?
(A) Karnataka coast (B) Malabar coast

(C) Konkan coast (D) Northenrn circar coast

SRR A el T Ue € srerier X Rea ¥, Wy S werary §
f=ten &1 FRUL E -

(@) S Sams ¥ TH=tan (@) AE AW
(1) Rrmen A award () aTgeR | uguu

Amritsar and Shimla are aimost on the same latitude, but their
climate difference is due to -

(A) The difference in their altitudes
(B) Their distance from Sea
(C) Snowfall in Shimla

(D) Pollution in Amritsar
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40.

41,

42.

ﬁﬂ%ﬁgaﬁﬁﬁqﬁsﬂawazmsﬂa% ?
(%) PreeTa (aferg) (@) oo (3 wden)
(1) e (SovrEe) (&) Xupent (fRmmraret wer)

Which of the following is an artificial lake ?
(A) Kodailanal (Tamil Nadu) (B) Kolleru (Andhra Pradesh)
(C) Nainital (Uttarakhand) (D) Renuka (Himanchal Pradesh)

URE @ e I 4 wraifere $fve arara o 7
(@) g4t 9 w3= (@) BARTTE 39 @ siafs &5 §
(1) e el 3 (F) VORI & WERerer a5

(n which part of India is the daily range of temperature highest ?
(A) Eastern costal areas (B) Interior areas of Chhattisgarh plain
(C) Andman Island (D) Desert areas of Rajasthan

WIRA 4 SR BT ARIHTT o e Y ?
(m)wwvﬁammm{mﬁ"\gw (@) 3aine Wet &1 Juar 1g g
(1) a9 & Te1 &1 Wy (&) W11 &1 Yrasv1 6 v saa

Which of the following water management strategy in India is cost-
effective?

(A) Improvement of the flushing system
(B) Treatment and use of waste water
(C) Rain water Harvesting

(D) Recycling and Re-use of water
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43. ‘eRurel g watE E ?
(%) Ha1 wdem A (@) g w6u A

(71) ®He wEEH W (=) oTel wee Q@

“Hariyali Yojana” is related to
(A) Soil Management (B) Air Management
(C) Crop Management (D) Water Management

A4, ‘HSHER Hifa’ wRd H SR Sed ggm @ g van W g e —
(%) Aiel IR FH (@) TH.TH, @WHFERMAE gRI
(31) T {W W &N (€) 3. ®. 9. 9 N

The Term “Evergreen Revolution” has been used for increating
agricultural production in India by

(A) Norman Borlogue (B) M.S. Swaminathan
(C) Raj Krishna Menon (D) R.K. V. Rao

45. ¥rA e 96 o 2R Hifd @ oHe M WK §, TP s e g ?
() Tga T FARBI (@) Afrga
(31) Smregferan (&) ~guircis

Norman Ernest Borlauge, who is regarded as the father of the
green Revolution is from which country ?

(A) United states of America (B) Mexico
(C) Australia (D) New Zealand
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46.

47,

48,

49,

FrafaRas 4 W B W vae we w6 el wee § ?
(@) qeu+ (@) =
(1) = (&) Ut

Which one of the following is an important crop of the barak
valley?

(A) Jute (B) Tea

(C) Sugercane (D) Cotton
ISR el SEe B Rera ¥ —

() B3r=hr (W) yamae 4
(1) WYY | (a)gor 4

National Research centre for Banana
(A) Trichy (B) Bhusawal
(C) Saharanpur (D) Pune

ﬁwﬁaﬁmwmﬁﬁﬁaﬁamm%zomﬁwmuméﬁmwaﬁm
gomr ?
() srevred w3w1) (W) ava (1) snifSen (=) Tafops

Which one of the following states of India has been declared the
first bio of fuly organic state of the country?

(A) Arunachal Pradesh (B) Kerela
(C) Orissa (D) Sikkim

R BT A9 e gl Eivorgad 9 93 & -

(@) Bewr d (@) aras @3 () Wisamn a3 (=) fiey o5
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50.

w

The most mineralized rock system
(A) Cuddapah System (B) Dharwar System
(C) Gondwana System (D) Vindhayan System

frafiRad 91 o3 § | B 9Ra & Braen SR (Ruifew) w1 i@ ik
3 ?

(@) yRag &3 (W) Msar ey (M) gesmEs  (¥) e

Which of the following rock system in India is the main source of
Coal deposits ?

(A) Dharwar Syatem (B) Gondwana System
(C) Cuddapah System (D) Vindhyan system
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